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Section 2.6: Finding the x-intercepts of a Quadratic Functions
By Factoring

-y II. Factoring a Difference of Two Squares

x* - 16 is an example of a Difference of Two Squares

x” is a "square" because it = xex
16 is a "square" because it = 44

Other Examples of a Difference of Two Squares

x> -25 4x? - 49 9x? - 36
/i i ) N\ d \
XX S dxAx MY D b-b

Now, onto solving quadratic equations by factoring a difference of
two squares.

Step 1: Find the square root of each term.
Step 2: Factor into two binomials - one plus and one minus.

a’-b*=0
(at+b)a-b)=0

(JFemi 4 JTermn ) (FFermt — \Feem) = 0

Step 3: Set each bracket equal to zero and solve for the variable.
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Example: Solve the following quadratic equations.
5 Ux?zx v LI %L
A)’x—lf=0 Jite :4 B) x 25 0 Jiz: 5%
XX Y.y x. x s‘-S‘

(x+'-lXx-q};o (X1 8)(x-5)=o0
X

—v
NtTeo® x-4=0% Xt5=0 -5=0
= ’E 15
eSS ELh X= "5
C) 47 -49=0 D) 9?-36=0 (GCFR 9
a-3% 11 ; 2'
).
(@x (e )’_\o, Q(g‘[‘— ._D__ o
Dx.‘.‘)ga '}1-\-0 ¥xX 2%
Q_:g-’l A=

E) 4x*=25 F) 9x*=49
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2. Find the x-intercepts or zeros of the quadtratic functions below.

A) y=x*-8l B) y=25x*-16
osg‘ﬁ_g'\ 0= ’2.5‘x-|L
xAxX 9.9 $3l$'7- d-q

(x+9)(x-9D=0 (5’x+'-l)(5x-'-l)~_o
'11-"(4'-0 X-Q=0 51{.‘/:_3 5"_‘/\?;

X=-9 X=9 5% ==Y sxaY
K3 E3 275
. -4 )
X=-4 1-&5
C) y=12x*-175 D) y=28x"+63
0= |?..x"-1§ GCE3  0=2¢x"+ 63 GCF=1
3 3 205
3(4x™-98)= 0 )
S:Mx ;-S 0: 7("1 +")
3(.'!)(,- 6)(9)(-?) 0 f
s
Ax+5=0 x-5=0 swm of 2
3_2.(. -5 Ax= 5 Suares- |
1 > 2 % Canhol {az/-or'
Sa X = 5:{ Cannot salue
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